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INSTRUCTIONS h

This question Paper contains only MCQ type objective guestions having three
categories namely category-I, category-Il and category-lil. Each question has four
answer options given, viz. A, B, C and D.

Category-l:  Only one answer is correct. Correct answer will fetch full marks 1.
Incorrect answer or any combination of more than one answer will feteh - ¥4 marks.
No answer will fetch 0 marks.

Category-ll: Only one answer is correct. Correct answer will fetch full marks 2.
Incorrect answer or any combination of more than one answer will fetch - ¥2 marks.
Category-tl: One or more answer(s) is (are) correct. Correct answer(s) will fetch full
marks 2. Any combination containing one or more incorrect answer will fetch O
marks. Also no answer will fetch 0 marks. if all correct answers are not marked and
also no incorrect answer is marked then score = 2 x number of correct answers
marked + actual number of correct answers.

Questions must be answered on OMR sheet by darkening the appropriate bubble
marked A, B, Cor D.

Use only Black ball point pen to mark the answer by complete filling up of the
respective bubbles.

Mark the answers only in the space provided. Do not make any stray mark on the
OMR.

Write question booklet number and your roli number carefully in the specified
locations of the OMR. Also filt appropriate bubbles.

Write your name (in block letter), name of the examination centre and put your fuli
signature in appropriate boxes in the OMR.

The OMRs will be processed by electronic means. Hence it is liable to become
invalid if there is any mistake in the question booklet number or roll number entered
or if there is any mistake in fitling corresponding bubbles. Also it may become invalid
if there is any discrepancy in the name of the candidate, name of the examination
centre or signature of the candidate vis-a-vis what is given in the candidate’s admit
card. The OMR may also become invalid due to folding or putting stray marks on it
or any damage to it. The consequence of such invalidation due to incorrect marking
or careless handling by the candidate will be sole responsibility of candidate.

Mobile phones, calculators, Slide Rules, Log tables and Electronic Watches
with facilities of calculator, charts Graph sheets or any other form of Tables
are not allowed in the Examination hail. Possession of such devices during the
examinations shall lead to cancellation of the paper besides seizing of the same.
Rough work must be done on the question paper itseif. Additional blank pages are
given in the question paper for rough work.

Hand over the OMR to the invigilator before leaving the Examination Hall.

—

pc-2017 | IIINRRAED




PC-2017

SPACE FOR ROUGIH WORK



PC-2017

PHYSICS
Category — 1 (Q.1 to Q.30)

Only onc answer is correct. Correct answer will fetch full marks 1. Incorrect answer or any

combination of more than one answer will feteh =% marks. No answer will feteh 0 marks.
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Unless otherwise specified in the guestion, the following vatues should be uscd
Mechanical equivalent of heat. J = 4.2 J ¢cal™
Acceleration duc to gravity, g=9.8 ms—2

Absolute zero temperature =273 °C

The following symbols usually carry meaning as given below :
g, : clectric permittivity ot free space
1, : magnetic permeability of free space

R : universal gas constant
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Sl TES s, J = 4.2 1 cal!
afodEs 999, g = 9.8 ms™

APTHAT TR =273 °C
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When light of frequency v, is incident on a metal with work function W
{where hv, = W), the photocurrent falls to zero at a stopping potential of V. [f the
frequency of light is increased to v,. the stopping potential changes to V,. Theretore, the

charge of an electron is given by

(A4) \'i\;’: + \’_,Vi
W(v3 - V)
© ViVi— VRV

W(vg tv,)

(B) viV +v,V,
W(v2 -v))
® ViV —v v,

W STIASFYS 93T 997 B T v, ES (T hy, > W) Tt aneifss gy,

ST WIS OG0-A0% B o V, R few w77 = | BITTP oA g 3R v,
T Al oo #fafbe ww v, 2 | o 99 Seeime W aw

\V(\f: EERY | )

(A) \'1\/’3+v:\f’]
W(vz -Vv,)
() ViV, - v,V

W(v2 +v,)
) ViV v,V
Wv, = v))

VY]

Radon-222 has a half-lifc of 3.8 days. If one starts with 0.064 kg of Radon-222, the

quantity of Radon-222 left after 19 days will be

(A) 0.002kg (B) 0.062 kg
(C) 0.032ke (D) 0,024 kg

([TF-222 97 THY 3.8 g 1 800 0.064 kg @HH-222 YFA 19 7 7 @@1-222 97 @

“{fsrter SRME Qg of 5

(A} 0.002kg (B)  0.062 ke
(C) 0.032ke (D) 0.024 kg
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In the given civeuit. the binary inputs at A and B are both 1 in one case and both O 1 the

Ao -

_1>O_

TY

next case. The respective outputs at Y in these two cases will be

Ay i1 (B) 0.0 ()Y 0.1 (Dy 1,0

-

Rra crom 6T, A 9B B Uy IENT INAEE oYW NI 1 IR @ WA O | 98 R
G YO SEHS TRGEsp 204 YT
(A) .1 (B) 0.0 (Cy 0.1 (Dy 1.0

Ae —$
B

—|>'O—
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When a semiconducting device is connccted in series with a battery and a resistance, 4
current is found to flow in the circuit. If. however, the polarity of the battery is reversed.
practically no current flows in the circuit. The device may be

(A} ap-1ype semiconductor

{B) an-type scmiconductor

(C) an intrinsic semiconductor

(D) ap-njunction

43T SO SAEN-E 93 THR WL 9T @ T (A IO Y& T TSNS
93 ofecsar x| ey by o BB cronl AF TOAMBO IS A @A SR
#alfEs o A1 | AFarh 5O AR

(A) 95T pBEst weiRR
(B) 93T n-Bigsr wHfead
() 9 Fow s

(D) 93fB p-n ST
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The dimension of the universal constant of gravitation, G, is

(&) ML) (B) [M LT
(Cy M7 (D) [MLT
SIAGNIN TRIFEY g9, G-97 NaE 5

(A) [MLT 4 (B) [M LT
(C)  [MLT (D) [MLYT)

Two particles A and B (both initially at rest) sturt moving towards each other under a
mutual foree of attraction. At the instant when the speed of A s v and the speed of B is

2v, the speed of the centre of mass is

MI';"

3v

{(A)Y Zero (BY v () (D) 3

T M A SR B (Tom? Afie wewm ) e wrodd aee oo AT B
VAT BF I | (T YES A-93 56 v 9 B-97 55 2v 20, 03 waEhy 5 &y

v

lad

(A)  Zero (B) v (C) D) 5

I!\JI

- R = T R Y = 2 = o
Three vectors A = ai+ j+ k; B = i+ bj+ kand C = i+ j+ ck are mufually

. s = : : .
perpendicular (i jand k are unit vectors along X. Y and Z axis respectively)y. The

respective values of a, b and ¢ are
1 1 1
(A} 0.0,0 By 37373
{11
€©) 1,-11 D)y 335

e I S

Rl @87 A=ai+ j+« k:B=i+bj+ k 0% C= i+ T+ ek stz o (7.9 &
R Y@ X, Y 8 Z OF 999 9FF (G9) | a. b 932 c-a97 T 257 TN

l-u‘l —
e —
b | —

(A} 0,00 (B) -

1o | s
b | e
I

) 1.-1,1 (D)
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A block of mass | kg starts from rest at x = 0 and moves along the x-axis under the action
of a force E = kt, where t is time andd k = | Ns~!. The distance the block will travel in
6 seconds is

(A) 36m (B) 72m (C)y 108m (D) 18m

| kg O 930 && 1 = 0 (O FERY (NF 510 8F ¢ IR F = kt IR ASHI x-TF
FaeT e 5, (TN t 2 SN 9R k=1 Ns! 1 7300 6 CIers (¥ 799 AOHT 90
of %

(A) 30m (B) 72m {Cy 108m (D} i8m

The velocity of a particle executing a simple harmonic motion is 13 ms!. when its
distance from the equilibrium position (Q) is 3 m and its velocity 15 12 ms~', when it is
5 m away from Q. The trequency of the simple harmonic motion is

5 5 8
A T ®) = © 3

Dy -
Py (D)

5

SR ciEsfs seom A3 I AR (Q) (N T 3 m R U@ OF OIY @ XA
13 ms ! 4R TR Q (UE 5 m @ YT TLF O @1 2W 12ms ' | 57 (reqsifsiea st
v

3 5 8 8
* ® 3 © 5 D) %

A uniform string of length L and mass M is fixed at both ends while it is subject to a
tension T. It can vibrate at tfrequencics (v) given by the formula (where n =1, 2, 3. .....)

n T n T

@ v=3\[mL ®) v=30\/M
' n |[TL

(© v=2\[ML @) v=3\/M

L7 93 M ORE 93 Y O 5 M@ T Bis aw | 9 @ molis (v) afo
e A o A Al = (@ n=1.2.3,....)
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A wuniform capillary tube of length / and inner radius v with its upper end sealed is
submerged vertically into water. The outside pressure is p, and surface tension of water
is 7. When a length v of the capillary is submerged into water. it is tound that water levels
mside and outside the capillary coincide. The value of v is

/ (| (|- p—‘} L
(A) ——“( P“I'] (B) f{\l ) () ;\\l 2y, (D) { p“[‘)
!+ 4y l‘\] ! 2y)
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(A)

A Tiquid of bulk modulus k is compressed by applying an external pressure such that its
density increases by 0.01%. The pressure applied on the liguid is
N k

(A o000 B) 100 (C) 1000k (D) 001k

k INNET N QMET 230 O B (0 B A E NI A0 B 5 IS
LB 79 0.01% IfEw g 1 oDy So Ay vist &

. k _k
(A) 70000 (BY  Too0

(C) 1000k (D) 0.01 k

Temperature of an ideal gas. initially at 27 °C, is raised by 6 “C. The rms velocity of the
gas molecules will,

{A) increase by nearly 29 (B) decrease by nearly 2%

(C} increase by ncarly 1% (I3)  decrease by nearly 1%

PO 27 °C ST AR 3G WP M ST 6 °C I B 5 1 AT SRR
rms (50 '

(A) o5 29, 3Mq 7ns (B) N 2% B N3

(Cy =AW 19 I (D) =TT 19 ZS M
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2 moles of an ideal monatomic gas is carried from a state (P, V) 1o a state (2P, RAYN
along a straight line path in a P-V diagram. The amount ot heat absorbed by the gas in the

process is given by

3
{D) EP AY

S I ]

(AYy 3PV, (B} EP v (Cy 6PV

{1 IS |
2 (et ST QAP W e 2Fp P-V et (P V) - S @@ (2P,
2V,) TR 3B Seeiey] FAKE T wont w1 | 9% ofEnfbrs TS o s o CEe

&g Ot &
9 3
i 3 = ! K 50 /
(Ay 3PV, (B) 3PV, (") 6PV, (DY 30V,
A solid rectangular sheet has two different coetficients of linear expansion ¢, and ¢,
atong its length and breadth respectively, The coctficient of surface expansion is

(for o £ 1o 1<)

(L, + Oy

(A) 3 = (By 2, +ds)
4 0

() o 4 oty (D) o, +a,

aafd o9 ST Siied T 3R oY A9 AR SSE ovEh fOR aR W o,
AT 01, | OFE AR OTED 2 (U o) 1< Lot

VR e

(A) 3 By 2a; + o)
4o 0

() @ + 0, (D} oy + 0,

A positive charge Q is situated at the centre ot a cube. The clectric tlux through any face
of the cube is (in S units)
Q Q Q
() (D)

(A) BE_U (B) 4rQ 4re,, OTE,,

AT R ST O AFH T (DCF AWE | TIFoF (LI TS g we7 fam o WSt
A (S| GH]F)

Q , Q 9
(A) 0g,, (B) +4nQ () 4me, (D} ome,,

9 P.T.O.
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Three capacitors of capacitance 1.0, 2.0 and 5.0 pF are connected in scries to a 10V
source. The potential difference across the 2.0 uF capacitor is

[ 00 20

(A) 7V (B) ;{‘-; v
oo
(M 17 A% Dy 10V

10, 2.0 93 5.0 nF-99 556 aie 9B 10 V Sesig siew Gy st 6 1 2.0 pF 4raaide
RIS e T =

100 20
Ay 7V (B) 47V
50
(Y 17V Dy 10V

A charge of 0.8 coulomb is divided into two charges Q, and Q,. Thesc are kept at a

separation of 30 em, The force on Q) is maximum when

(A) Q,=Q,=04C

(B) Q, = 0.8C.Q,negligible

(€ Q, negligible. Q,:08C

Dy Q=02C.Q,=06C

0.8 FoT <t 99l W Q, ¥k Q, Wi qff Wik fow o ' 4R SR
TR (I 30 em T T 26T | Q| WA oI AT T SRG 7Y T8
(Ay Q,=Q,=04C

(BY Q, =0.8C. Q,Jsmy

() Q. Q, = 08C

(DY Q=02CQ,=06C

10
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The magnetic ficld due to a current in a straight wire segment of fength L ata point on its
perpendicular bisector at a distance r{r = 1)

1

(AY  decrcases as Py
|

(B decreases as =
2

{(() devreases as o
(D) approaches a finite imit as r — e,

92f ot 4T OIEd 1 TR 998 ST O ORibe SR Eead SRS RS
(r == L) I [0S b19& (%

I

{\) 7@1@'.T§Tﬂﬂm|
]

(B) ;E@W@ETF{*?T!?II

|
(C) I—aqn@wvm |

(D) £&% =T T 68| BE, TS 1 —> o0 |

The magnets of two suspended coil calvanometers are of the same strength so that they
produce identical uniform magnetie ticlds in the region of the coils. The eoil of the first
one is in the shape of a square of side a and that of the second one is circular ot radius
1\Ft When the same current is passed through the coils, the rativ of the torgue
experienced by the fivst coil to that experienced by the second one 18

] al
(A) I:\—/—— (By 1:1 (Cy m:! Dy 1:=
T

ﬁﬁ%@-@iﬁﬂﬁﬁ@ﬁﬁ?ﬁﬁﬁﬁﬁ%m@%ﬁ@mmﬂmﬁm@m wifen,
ST (TS g SB WA 1 AWnha e fae, T IR O 0 4R forfa et oI,

pciEnEI 1\/E | ST ST-orE FOABE Wey Fiy s = AXw g Rl s

oz {maie Bl Wors 2

!
(A) i:T By 1:1 (Cy m:! (M 1:r
i
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A proton is moving with a uniform velocity of 10% ms! along the Y-axis, under the joint
action of a magnetic fietd along Z-axis and an electric tield of magnitude 2 x [0 Vm~!
along the negative X-axis. If the electric field is switehed off, the proton starts moving in

u cirele. The radius of the cirele s nearly [gi\'cn : ;:—1 ratio for proton = 108 (‘kg")

(A} (.5m (3 0.2m (Cy 0.1m (DY) 0.05m
Z-psiiedl oo B oFa 9 e N-wwfe® 2 x 100 Vi ! N 99l
SRRt (A e 9l AT 10° ms ! SN @1 Y-y wfeqy ofofe ane |
Sfeccwals & FE (A goorg o ARoder = | Sfog sy == oA

. £ L 108 ,',--IJ
(W.Cﬁﬁm SRS < 108 Chy

{AY O5m (By 0.2m (Cy Olm (D) 0.05m

When the frequency ol the AC voltage applied to a serics LCR eircuit is gradually
increased from a low value, the impedance of the circuit

(A} monotonically increases (B) first increases and then decreases
(C)  first decreases and then increases (D) monotonically decreases

I 3 AT LOR 98I A7& AC (OHT-97 F=5i5 FITW W N @ 5 40 W,
B FoAtg ARsrEt (impedance)

(A) TNHAF | (B) =Ty Jfw T 992 AT B S

(C) ST EIH A 932 A I oy | (D) SESNE |

Six wires, cach of resistance r, are connected so as to form a tetrahedron. The equivalent
resistance of the combination when current enters through one corner and leaves through

some other COMNET 18

14—

(A) B) 2 (©) 3 (D)

df5fba @i ramew 2 Oae RIS W T oee 5T I 5T | SuwEe @Il
9 @A [ oy ofdcwirz et @ wo @I 93 @EE BN fis e
SANTE OFTT @Y &d

(D)

19| =

(A} T (By 2r (C)
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Consider the circuit shown in the ficure. The value of the resistance X for which the
thermal power gencrated in it is practically independent of small vartatton ot 1s

rosIStance s

R R
(Ay X=R (By X=3% (C) X=3 (Dy X=2R
AMA
R

T _f§

Grg it 5T &% @ | N @ET (7 NET ST 99 THT SR OISR IR 9R
@eg 7 ~fieeEe 8049 Fead Jy of 12

R
(A X=R (B) X"—";‘ (Cy X

12|

f1e

Consider the cireuit shown in the figure where all the resistances are of magnitude T k€2,

If the current in the extreme right resistance X is 1 mA. the potential difference between
A and B s
(Ay 34V By 21V (C)y 68V (D) 35V
A
X

1B e—
G Anfe IS &9 I@ | UTE FIE @ER TF 1 kQ | T whFesrsad) @y X-a7 ey
firy #fEE SR | mA U O A AR B 47 W& foaiar =

(A)y M4V (By 21V (Cy o8V (D) 53V
13 r.T.0.
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The ratio of the diameter of the sun to the distance between the carth and the sun is
approximately 0,009, The approximate diameter of the image of the sun tormed by a
concar e spherical mirror of radius ol curyature 0.4 m s

(AY 1353x10%m By 40x10m

(Cy 3oxI10%m (D) 1.8x10m

G I AR RT 9 R T WIS AN 0,000 | SIS (04 m et G
43 Y Wawe 7o s srer «Sfem T A

(A 23 10-"m (B) 4.0x10°%m

(C) 3.6x10%m (D) 1.8x 10 m

: : : . L .
Two monochromatic coherent light beams A and B have intensities [, and 7 respectively.

[t these beams are superposed. the maximum and minimuni intensities will be

9L L
174

L

S

By 5.0 (C}y 5.0 (D) 2L.'l§

(A)

|

L
1B STiesie Sels @ om A 9% B-gy ST INwE L a® T | o Safasifos

1 A, SYF 492 ST Sigor B9 |

oL L 5L 5L
_ (B) .0 (Cy 5.0 (D) 2L.

il

b =

A point object 1s held above a thin equiconvex Tens at its focus. The focal fenath is 0.1 m
and the lens rests on achorizontal thin plane mirror, The final image will be formed at

(A) infinite distance above the lens.

(B) 0.1 m above the center of the lens.

(C) nfinite distance below the lens.

(D) 0.1 m below the center of the lens.

9% FRET ool Mol ToTesd TS ST ©F oS e AT 59 | TS
CTIHIST ST 0.1 m 932 TS5 STGHIed q1 AJ0 AT Wwod moldd 899 qo0e |
pors sl s =

(A)  TCSI g T [T |

(B) (EICSTE $HTd (101 (% (R0 0.1 m LT |

(C) TS NG I q09 |

(D) ECSTT Sib ETesR @9 (/TS 0.0 m =T |
14
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A parallel beam of tight is inctdent on a elass prism in the shape ot a quarter cylinder of
radivs R = 0.05 m and refractive index n L3, placed ona horizontal table as shown in
the figure. Bevond the evlinder. a pateh of light is tound whose nearest distance x trom

the evlinder 1s

(A) (R3-4)x107°m By (233-2)x 10 m
(C} (”\% ~5)x 10 m (M (“.,.\ﬁ )% 102 m
-]
n
—
R
—_—
——
N

g3 sl SiETe dRion aah Seie GRiee S arel (B o) a3 FEd
i (9 b)) (@WIRRs fAetT ot wirefow == | feromfBa Qrsig’ R = 0.05 m 4
offiosTdrE 0 = 1.5 | (SAd Srafce 9o 55w Eefes S sioNt 9, @A (I U9

ARG 799 x 2
(A) (3\3-4)x107m By (3 -2)x107m
() (335 -3)x107m (M (W2-3)x10°m

The de Broglie wavelength of an electron is 04 % 10 19 m when its Kinetic energy s
1.0 keV. Its wavelength will be 1.0 x 1010 mowhen its kinetic eneray is

(A 0.2keV (13 08 keV (Cy .63 keV (DY 016 keV
a3t BrEeteg AfeefE 1.0 keV T OR S 25 (de Broglic) 0T 20 0.4 x 10 Mm
e SR 1.0 % 10 1" m %3 137 o7 ~forfe

(A) 0.2keV (B) 0.8 keV (Cy 0,03 keV (DY 0.16keV

P.T.O.
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Category - 1 (Q.31 to Q.35)

Only one answer is correct. Correct answer will feteh full marks 2. Incorrect answer or any

combination of more than one answer will feteh =Y marks. No answer will fetch 0 marks.

235 Tog Side | 5w v et 3 T AR | o o Fr WA 7 o aaifie Bog e

- FHI MI | @ TTF A fawes ¥y oMrea |

3L A unit negative charge with mass M resides at the midpoint of the straight line of length
2a adjoining two fixed charges of magnitude +Q cach. IF it s given a very small
displacement a(x << a) in a direction perpendicular to the straight fine. it will
(A)  come back to its original position and stay there

i Q

B) exceute oscillations with frequency T
(5) ‘ T +me Ma

(€} My tointinity

Q

D) exccute oscillations with frequency — —
D) ¢ WY I\ [ e, M

M et 99 9o3 39 aed 58 +Q NE R ST SrseT® 20 TR SRR
TR SN B | O aerge wivRler S sgEmate w9 Toy o7 Tw

SR vy << a) (AT 7Y, OEE JfF
(A SR IR Rg St 992 (I AR 9

(3 L LW@F‘M%\D@

2n \/ 4me Ma'
(C) AT 607 qrY

| .
(Dy - ___Q. y IONE WICHIfore 1w
’n e Ma-
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Consider the circuit given here. The potential ditference Vi, between the points B and C
15
(A 1V (B 03V (C)y 0V (i -1V

11k 2ui

3,

I

I Re2 RSP

) l
U3y

Ik0
Bt rog! TG REET A | B 4R € RAGEae Wy e ofuew Vi - 2
(A) 1V (B) 05V (C) 0V (D) -1V

A particle with charge Q coutomb, tied at the end of an inextensible string of length

R meter. revolves in a vertical plane. At the centre of the circular trajectory there s a

fixed charge of magnitude Q coulomb. The mass of the moving charge M is such that
h

Mg = ﬁ——m&‘ e If at the highest position of the patticle. the tension of the string just
1]

vanishes. the horizontal veloeity at the lowest point has to be

(A) 0 (B) 2uR €y 2eR (D) Af52R

R ﬁmmmﬁ@mmaw@éﬁmemmﬁmﬁmw
gefiuy= 1mmﬂamowwwﬁﬁammﬂmﬁwﬁﬁa@mﬁaw

4

M asq , Mg:ﬁ}(—gw | 7 S SR offeen S gfn A B K5 2N, B
"

S W TSNS @ IO I
{A)y O (BY 24/¢R (C) 2¢R (D) SeR

i7 P.1.0.
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A bullet of mass 4.2 x 1072 kg moeving at a speed of 200 ms!L gets stuck into 1 block
with a mass 9 times that of the bullet. It the block s free to move without any kind of
friction. the heat generated in the process will be

(A) 45 cal {(By 405 cal

(C) 436 cal (DY 1701 cal

300 ms T @0 oM 4.2 % 10 2 ky ww 933 1, =57 9@ 0 o e ool

T I ot | 7ol T ovedh ee s/t s o S 2y, HEThie Seoy oreg

“{faqy 7a Sy
(A) 45 cal (13) 405 ¢al
(C) 450 cul (DY 17071 cal

A particle with charge ¢ and muass ., moving along the X-axis with a uniform speed .
enters a regron where a uniform eleetric ficld E s acting along the Y-axis. The particle

starts to move in a parabola, Its focal length (neglecting anv etieet of gravity) is

2mu- ek
(A) ek (B} 2mu-

mu mu-
(C) ek (1) RIDE

¢ WRITE AR m SRR S0 TN N-UF R u [I0AT AT T Y- aq1ag
Furfer 9l San ofeesg E-o s o 1 oD WRISFR N N =
(SREFFEAS o7 S 3R) Seqale 717 3 (focal length) 23

2mu-” ¢k
‘A e B e
.omu mu-
(€ 5op UENE

18



PC-2017

Category — L (Q.36 to Q.4th
Ouc or more answer(s) is (are) correet. Correct answer(s) will feteh full marks 2. Any
combination confaining one or more incorrect answer will fetch 0 marks. Also no answer
will feteh 0 marks. If all correct answers are not marked and also no incorrect answer is
marked then score = 2 X number of correet answers marked + actual number of correet

ANSWCrS,

a7 1 T Tog W5E | 59 I W Hod MU 3 AT o | o T et WA I
aﬁymmamwwwm:aammmﬁmwmmﬁm

@Wﬂ%ﬂmaﬁﬁ@a@maﬁmmmm;Xmﬁm@wmem

TATT SIS+ IHTA (7 Hp WS $oF WIS oid WA |

36. Letv and E he the respective speed and energy of an ¢lectron in the ntt orbit of radius
r.. in a hydrogen atom. as predicted by Bohr’s model. Then
(A) plotot E r /E 1) asa tunction of n ts a straight line of slope O.
(B) plotofry 1,y asafunction of n s a straight line of stope 1.
I"II\I"
(Cy plototin| ™

I

as a function of In (n) is a straight line of slope 2.

v E
(D) plotofin \ﬁ} as a function of In (n) is a straight ling of slope 4.
Lt

@ T, (IEE TOOH W A3 RECEICSH A 1, I a0 IFAR 93D
BEGIAT @1 93 9 VAF v 9% B, | ORE |

(A)  n-03 SIS B E, ¢ /E,r, -4 rfm o3 et 1 e 0 |

(B)  n-0F SOEE B v, 1,y - @il 9aff S TR At 1

.
(C)  Tn (n)-99 S BRI In L-] 97 ST «alh SRe O dfs 2 |
|

lnF'I

(D) In (n)-a8 ICPFD ET In [f‘ ; ]-ﬂa g a3 sigeT TR A 4

e 1)

D {9 P.T.O,
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38.
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A small steel ball bounces on a steel plate held horizontally. On cach bounce the speed of
the ball arriving at the plate is reduced by u factor e (coefficient of restitution) in the
rebound. so that

upward - C\xdu\\m\'urd'

t the ball is initially dropped from « height of 0.4 m above the plate and i 10 seconds

later the bouncing ceases. the value of ¢ iy

2 3
(A) 7 B) 3
13 17
© 93 T

A3 @B TR I ATEHTOIR 41 9T BN Aww S S | #fsT s
C2 o AT TS IFBY 5 ¢ (Ffomore o) o 515 ot snefic

Vipsard 7 €Y gonnmard- (pward : D downward ; fe )
SHCS I W 0.4 m THS (A Tl B SR 10 IS =17 TF 9187 S T 1y,
OIEA ¢ 99 N9 7Y

It the pressure. temperature and density of an ideal gas are denoted by P T and p.
respectively, the velocity of sound in the gas is

(A} proportional to \ﬁ when T is constant.

(B} proportional to \f?

(C}  proportional to \/5 when p is constant.

(1) proportional to T,

T A ST ST b1, ST, IR Y YW P, T g P BY, O 3B ST =Ed @
L33

(A P9 SPIafsE, Tem T fe |
(B) /T-47 sorieifiss |

(C)  ~fP-a7 sigoiifsss, vad p fgg |
(D) T-99 sfss |
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Two long paraliet wires separated by 0.1 m carry currents of T A and 2 A respectively in
apposite directions. A third current-carrying wire parallel to both of them is placed in the
same plane such that it feels no net magnetic Toree. Ttis placed ata distanee of

(A) 0.5 m from the P wire. towards the 2™ wire.

(B) 0.2 m from the 1™ wire. towards the 2™ wirc,

(C) 0.1 m from the 1™ wire. away from the 2™ wire.

(DY 0.2 m from the 1™ wire. away from the 2 wire.

0.1 m IR U 4T SR SIS B TP | A 432 2 A g e et $iee-aRm
T AT | BOY BIEE T WG OO ATH SRR ORHIG GIE WE QITSld A &

Ut A (BT 8T AT (BT I WS A W 1 AP (1 gy e SR Of 56
(A) 8w o s, A% ORib (S 0.5 m =

(B) ool g facs, A% o=b (3 0.2 m

(C) &Sy wigg S, AN SRT @ 0.1 m g

(D) &S g Srniea, =iuw ofl it 0.2 m g

If % stands for the magnetic susceptibility of a substance. [ for its magnetic permeability

and (1, for the permeability of free space. then

(A) tor a paramagnetic substance 1 > (L= 0

(B) fora paramagnetic substance : g > 0. [t = 1,

(C)y for a diamagnetic substance 1 < 0. 14 <0

(D) for a ferromagnetic substance 1 = 1L 1= L,

CENAT AT (BTG 27Tl y. (BIEF (TS | 438 HATIGITT GG (TRt 1, BT
(A) (SIAT GRS "M OFd c > O =0

(B) (HIGH “AGEO ST CFa <y = 0. > g,

(C) (AT Fear=bradin *mia ootd @y < 0, 1= 0

(D) (T SHTHIEIY S 090 - = 14 > gy,

21 - mT.0.
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CHEMISTRY
Category - 1 (Q.41 to Q.70)

Only one answer is correct. Correct answer will feteh full marks 1. Incorreet answer or any

combination of more than onc answer will feteh —% marks. No answer will feteh 0 marks.

A3E To7 WiEw | 5 27 foreT » www oM@ | g ToF ey WU v ol aaie Bow
et —5/8 797 *MF | @IF o7 A Farer wpAT AN |

41.  ADP and ATP differ in the number of
(A} phosphate units
(B} ribose units
{(CY  adenine base
(D) nitrogen atom
ADP g3 ATP-9 S04 #N1YF Ry
(A) TCTE A}HT FYTY
(B) MBS FHT FATY
(C) ST SR Sy

(D) AECHICST R H24Try

42, The compound that would produce a nauscating smell‘odour with a hot mixture of

chloroform and ethanolic potassium hydroxide is

(A} PhCONH, (B} PhNHCH,

(C) PhNH, (D} PhOH

frsfrfis @ cafs @iy s B eEgwEEees fed $o3 Rumey e sy o
SIS SUEF I Of &6

(A) PhCONH, (B) PhNHCH,

(CY  PhNH, (D) PhOH
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For the reaction helow

,/J\\ (1) PhMeBr THE O
N (i

(11) H_,‘O+

the structure of the product Q 15

Ph
(A)

OH

Pl
CN

s KiFmy Sevin I Q-93 107 2

)\ (i) PhMeBr. THF 0
CN (i) H,0"

PPh
{A)

OlHl

() /l<f h
N

[ o]
]

(B)

{)

(B}

NH

NH

bl

I

Ph

Ph

Ph

*h

PT.0.
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You are supplied with 500 ml cach of 2N HCIl and 5N HCL What is the maximum
volume of 3M HCI that you can prepare using only these two solutions ?
(A)Y 250 ml (BY 500 ml
(Cy 750 ml (DY 1000 m]
500 ml I 2N HCI 93 5N HCl R 6 (oW 68T T | 8¢919 3 16 539 I 3

| FfEF IO WISET 3M HCL 535 W0 Fare 13 ©

(A) 250 ml (By 500 ml
(Cy 750 ml (D) 1000 ml

Which one of the following corresponds to a photon of highest energy ?

(A) XA =300nm (B) v=3xi0¥s!
{(C) v=30cm™! (D) € =6.620x10"7]
e offe s @R sHifie «fes i =0 (oelBe) == ©

(A} A =300nm (BY v=3x10%¢"!

(€) v=30cn! (D} € =6.626x10777)

Assuming the compounds ta be completely dissociated in aqueous solution, identity the
pair of the solutions that can be expected to be isotonic at the same temperature :

{A) 0.01 M Urea and 0.01 M NaCl
(B) 0.02 M NaCl and 0.01 M Na,80,

{(C) (.03 M NaCl and 0.02 M MgCl,

(D) 0.01 M Sucrosc and 0.02 M glucose
AIX SIANIAY, STH-AGAS (WECMEI) Revrenet B @ S a9 | ol G ol
alist sl Roafore @ |

(A) 0.01 M BSRW ¥R 0.01 M NaCl
(B) 0.02MNaCl & 0.01 M Na,S0,
(C)  0.03 M NaCl 4R 0.02 M MgCl,
(D) 0.01 M STHT IR 0.02 M @S

24
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How many faradays are required to reduce 1 mol of C‘l‘jO?2 to Cr'” in acid medium ?
(A) 2 By 3

(C)

hn

(D} o

G T | mol Cr,0-2 I Cr'” S [ofis we 5o wane ofbreg Aure

b

(A) By 3

h

() (D) 6

Equilibrium constants for the following reactions at 1200 K are given :
2H,0(g) == 2H,(2) + O4(g): K =064 x 10 N
200,(g) == 200(g) + O,(gh Ky=10x10°°

The equilibrium constant for the reaction
H,(g) + CO,(g) == CO(g) + H,O(g) at 1200 K will be

(A) 0.05 (B) 20
(C) 0.2 (D) 5.0

1200 K Swoty, fFsfrfie Rieg b Smy-4a@d w1 (on W
2H,0(g) = 2H,(g) + Oy (g): K, =064 x 07
2C0,(g) = 2C0(g) + O4(gh K, =1.6x 10"

43 SO, Hy(g) + COL(g) = CO(g) + H,0(g) g SR 1 T

(A) 0.03 (By 20
(Cy 0.2 (D) 50

r.T.0.

i~
Lh
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I T = const,

log Vv

M,

log P —
For same mass of two different ideal gases of molecular weights M, and M., Plots of
log V vs log P at a given constant temperature are shown. fdentity the correct option
(A) M, >M,
(B) M, =M,
€y M <M,

{D) Can be predicted only if temperature 1s known

I T = const.

fog V
M
M,

logP —»
1 @ e SRS o T M, 9@ M, | 94l {2 oman 9ok ey @ g

STIGTE log V vs log P 93 @rafoa 40 2ws | 5i5e Sodb 5w a%

(A) M, >M,

(B) M, =M,

(€Y M, <M,

(D) SINad 77 ST YHAR S8 (13T S{Bq

26
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Which of the following has the dimension of ML2T 22
(A)  Cocthicient of viscosity (B) Suortace tension
(C)  Vapour pressure (D)  Kinetic energy

ed @ A=A o MLAT 2= 2

(A) SUS! QIE (B) *®BIT
(C)  IEAEH (D) sfeonfs

If the given four electronic configurations
(1) n=4/=1 (i) n=4./=0
(i) n=3./:=2 vy n=3,/=1

are arranged in order of inercasing energy. then the order will be

(A)Y  (v) = (i) < (1) (1) (BY (i)~ (v} < {1) < (ii1)
(CYy (= (my< (= 4v) (DY (D)~ (1) < () = (i)
o =S 519 BeTand AT, Afed HNIEE 9, ST HiE |

(v n=4,7/=1 () n=4,/=10

(i) n=3./=2 (ivy n=3./=1
SfF W 24

(AY (V) < (i) < (i) < (1) (B) (i) < (iv) < (i) < {iii}
(CYy (1) = (i) < (i) = (iv) (D) (i) < (i) < (iv) < (i1)

Which of the tollowing sets ol quantum numbers represents the 19" electron of
Cr{Z=24)"

_ )
(A) [4.1.---1.+%] (B) (4,0.0,+—3-]

1 , 1
() (3.3.(1_—;] (o [3.2 —2.+;)

\ pas

Cr (7 = 24) 493 19 &7 FIHAES o186 @UrGM sieans s o @Hn 2

' [ !
(A) [4.1_..,|.+;] (B) (4.(1.(},4-;)

(C) (3.3.(1.—%) (D) [3.2‘_3‘+%‘J

27 P.T.O.
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0,126 g of an acid is needed to completely neutralize 20 ml 0. 1(N)Y NaOH solution. The
equivalent weight of the acid is
(A) 53 (By 40 (Cy 45 (D} 63
20 ml 0.1(N) NaOH 501 5ol A=I5ag B971 0.126 ¢ 93 anfie swrew | smfinsg
FENERCER-G

{(A)Y 53 (B) 40 (Cy 45 (Dy 63

fn a tlask, the weight ratio of CH (g) and SO,(g) at 298 K and [ baris 1 : 2, The ratio of

the number of molecules ot SO,(g) and CH,(g) is

1

(Ay 1:4 By 4:1 {(Cy 1:2 (D) -
208 K B%OT 43 | bar 51, 951 F0E 369 56 01 CH, 9% SO, 95 9SH WA | : 2

=, SO, 8 CH, 1115 4fbd JPRAn WHe =

(A} 1:4 (By 4:1 <y :2 Dy 2:1

CHF™ is a F'™ radio-isotope labelled organic compound. F'¥ decays by positron

emission. The product resulting on decay is

(A) C,H,0' (By C HAr"

5

(Cy BI2C,H(F (D) C H,0°

[

C HF'* =7 93 ooizm sl o aisr | FH «fess Rfeat o 57 2w 1 97 W=

3

BN Y =
(A) C HO'! (By C, HAr!Y

nt oA

(C) BI!CHF (Dy CHO"

Dissolving NaCN in de-ionized water will result in a solution having
(A pH=7 {BYy pH=7 (Cy poOti=7 {(Dy pH=>7
SMITS ST NaCN 5d9® $I (T 539 SRAF 27 O 50T

(A) pH<7 (B) pH=7 (C)y pOH=7 (DY pH=7
28
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Among Me N, CiHN and MeCN (Me = methyl group) the clectronegativity of Nis in

the order :

(A} McCN > CHN>McN (B) CHN > MeN = MeCN
(Cy MeN>MeCN > C.H;N (D) Electronegativity same in all

N-0% SRee-aTgaal (@eRiEhion Sl Me,N, CsHN 98 MeCN (Me = REs <J#)-o3
AAEN =

(A) MeCN > CsHN > Me;N (B)  C.HN > MeN>MeCN

(C)  Me;N > MeCN > C;HN (D) SR GFLAR BIGe-A NPT SN

The shape of XeF wili be

(A} Square pyramid (B} Trigonal bipyramidal
{(CYy Planar (D) TPentagonal bipyramid
XeF -9 SIS %4 :

(A} 3 fraifae B) fafrs Risme
(C) SFoe (D) weoe fFixibe

The ground state magnetic property of B, and C, molecules will be
(A) B, paramagnetic and C, diamagnetic
(B) B, diamagnetic and C, paramagnetic

{C) Both are diamagnetic
(D) Both are pararmagnetic

B, 4 C, SI7 T (B & =
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The number of unpaired electrons in [NICL) . NICO), and [CulNH ), respectively
are

(A) 2,21 (B) 2.0.1 (Cy 0.2,1 (Dy 2.2.0
INICT) O NI(CO), 932 [Cu(NH, )] a8 50T Reoms ReTalg sy e |

{(Ay 20201 (By 2.0.1 (Cy 0.2.1 (D) 2.2.0

Which of the following atoms should have the highest 1 electron atfinity 7

(A} F By O (Cy N (N C
Fse s oftg swr @mibe *o4y SeTey s sifie o
(A) T (B) O ¢y N Dy C

PhCl, is insoluble in cold water. Addition of HCI increases its solubility due to
(A} Formation of soluble complex anjons Jike [PhCL]”

(B)  Oxidation of Phill) to Ph (1V)

(C) Formation ol‘[l’h{H:O)ﬁ]E’

(D) Formation of polymeric lead complexes

PhCl, Fiost Gtes @wrar | g HOL Qs et 3219 AIRTS! A0S By

(A} [PhCl,| Tonf @B seirad Gy anyd o o0
(B)  Phillyenfas =00 Ph(1v) o8 =

(Cy  [Ph(H,0) 7 o2 =W

(D) F1%-27 AT (polvimeric) TibeT (@ tog! 20

Of the following compounds. which one is the strongest Bronsted acid in a aqueous
solution ?

(Ay HClO, (By HCIO, (Cy HOCI (D) HOBr

e ahvofie wwr @es oty Fae W A aveie wnis {Bronsted acid)
e I 7

(A} HCIO, (By HCIO, (Cy HOCI (D) HOBr

30
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The correct basicity order of the tollowing lanthamide 1ons 1s

(A) La* = lu' > e’ »Eu' (BY Cc¢' »Lu* = La* > Eu"
(C) TuY = Cet = Eu'™ > La™r (D) La’ > (e’ > Euw'™ > Lo
el sTrMEe waiefim W wRdNoe WEe itey ==

(A) La¥ = Lu¥ > Cel = Eul” (B) Ce'"»Lu'">La’ > Eu"
(Cy  LuY > Ce'm > ot > Lat (D) La¥ > eV = Eu' > bt

When BaCl, is added to an aqueous salt solution, a white precipitate is obtained. The

anion among ('()_:3 R 'SO_\\2 and SOf' that was present in the selution can be

(A) ('O_.‘2 but not any of the other two

(B) SO,* but not any of the other two

(C) SO, but not any of the other two

(DY  Anyof them

233 ST 50 BaCl, Calef BT ST S0l Beol 2 | CO,7. SO7 AR SO, -49
W (7 & AT 5300s feet O &

(A) €O g o yfbw @efe 0
(B) SO, g @@y yfox @l w0
(€) SO, oy @Ay 7w @A ¥
(D) @ @A

In the IUPAC system, PhCH,CH,CO,H is named as

(A) 3-phenyipropanoic acid (B) benzylacetic acid

(Cy carboxyethylbenzene (D) 2-phenylpropanoic acid
IUPAC SIS &S Sig PhCH,CH,CO,H a3 JW

(A 3-FeEetamiaiye anfre (B) @ eEanfHitE suife
(C) dfazuEs cfgd (D) 2-FraEeat A smie

31 P.1.0,
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The isomerisation of I-butyne to 2-butyne can be achieved by treatment with
{A)  hydrochioric acid

(3)  ammoniacual stlver nitrate

(¢ ammoniacal cuprous chloride

(1)) cthanolic potassium hydroxide

- [RGBTBTE SRR (isomerisation) TRITT 2-FCBIEH FoNSEd TFr STOIT I
(A)  TROUE Wi |

(B) wrcINgras Severg MBET |

(Cy  aoTaNEs f8ars @rigs |

(D} BN TRGIIBTIT TANAY &9 |

The correct order of acid strengths of benzoie acid (X). peroxybenzoie acid (Y) and

p-nitrobenzoic acid (7 1s

Ay Y ~7=X (B Z>=Y>X

(C) Z=N»Y D) Y»X>Z

QTSRS WG (N). ARERTe Snfrs (V) |, a3 rraieEsie anis (2) g
WEEE Fod

{(AY Y=/ X (B) Z>Y =X

(Cy Z£2=»X=Y (M Y=>X=>2Z

The vicld of acetanilide in the reaction (100% conversion) of 2 moles of aniline with

Fmoke of acetie anhydride is

(A) 270g (B) 135¢g
(C) 675¢ (D) 177¢

2 mole SMSEEG 9 1 mole SEGE wrAEEgEted Kfmam w1009, Fonsg ﬂf@, o |
estifis SMEGeireg sfami zef

(A) 270¢ (B} (35
(C) 6754 (D) 177¢
32
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The structure of the product P of the following reaction is

OH
- NgOF (1) COsthigh temperature and high pressure) P
(i) H.O*
OMe '
OH OH
COLH CO:H
() (B)
CO-H HO:C
OMe (M
OH (OH
CO-H
(€Y (D)
(O
OMe OMe

T oo Rfna B Seom & P-a7 57 &

OH
g0l (i COL(GEaremIgt 8 SH01T) P
(i) H,0*
OMe |
O OH
CO:H CONH
(A) (B)
COsH HO,C
OMe OMe
Ol OH
COaH
() ()
CO.H
OMe ONle
33

P.T.O.




PC-2017
Category — [1 {(Q.71 to Q.75)

Only one answer is correct. Correct answer will fetch full marks 2. Incorrect answer or any
combination of more than one answer will fetch —% marks. No answer will fetch 0 marks.

2%t Sog s 1 I Tow it § w97 M | g Bow T wuwr (v @i awiie Sow faw
—5/3 TH A | @I TIF A v ==y Ang |

O
71, Reduction of the lactol S %{ with sodium borohydride gives
S

~
Cr
(A)

{B) O

II()\/‘\/\ /\/\
() O _ (DY OH

(3}
A6 S Q TSN QIAEETEReT T Refde o @ 4wy 3o 3@ o

O
S
NI B

L, O o

(B) O

I{O\/\/\ /\/\
(C) OH (D) OH

72, What will be the normality of the salt solution obtained by neutralizing v ml y (N} HCt
with y ml x (N) NaOH. and finally adding (x + y) ml distilied water ©

Axv+y) Xy

(A) vy N (B) o ty) N
“2vy ) x+

© [FE)N © (SN

v mly (N) HCI &y ml x (N) NaOH WG &1 287, 9& 47 (v + y) ml 10w o
CTANAT 2 | BRAR FRIIT SR 5309 SV o &1 7

_ 2yt v) Xy
(A) Wy N (B) 2x+y) N
Zyy X+
© [ZX)N (D) (‘Tyz)N

b 4
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In a close-packed body-centred cubic lattice of potassium, the correct relation between
the atomic radius (r) of potassium and the edge-length (a) of the cube is

¢ 3 3
(A) r=\T‘; (B) r=j:} (C) r=32£a (D) r=34[a

W@W@@%Wmﬁm SN A (1) AR GG 9FF (T
= T (a) 99 W& N5F ol ==

a \3

- : 3
(A) r:% (B) N (€) r="5a (D) r=34£a

Which of the following solutions will turn violet when a drop of lime juice is added to it ?
{(A) A solution of Nal
(B) A solution mixture of Kl and NalO,

(C)y A solution mixture of Nal and KI
(D) A solution mixture of KIO, and NalO,

e e o @Al TwT 93 B &g I (lime juice) QUM BT G @OT AT
igqy 0 ?
{A) Nal-a¢ 739
(B) Kl .4 NalO,-a3 Wigs g
(C) Nal 4R KI-a7 ffEre g3
(D) KIO, 9 NalO, a7 fif&s &
The reaction sequence given betow gives product R.
(1} Ag,0 R

CO':MC . rd
I{OEC/\/\/ (ii) Brz,CCI4

The structure of the product R is

Br

CO,H

s HO,C

CO,Me
(C) HO:C/\/\( (D) MO NN\
Br

Br

fs i Riman Bem &§ R-a7 709 X'
(1) Ag,O LR

/\/\/CO:ME s L4
HO,C (ll) BI'TCCI_I
) Br

(A) 131-\/\/\ (B) /j\/\/C02]\1e
COsltl HO,C
CO-Me
(€} IiO:C/W (D) MeOL NN\
Br

Br
35 . P.T.0.
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Category — HI (Q.706 to Q.80)

One or more answer(s) is (are) correct. Correct answer(s) will fetech marks 2. Any
comthination containing enc or more incorrcet answer will fetch 0 marks. Also no answer will
fetch O marks. If all correct answers are not marked and also no incorrect answer is marked

then score = 2 X muumber of correct answers marked + actual number of correet answers,

aF I AFNF ToT WS | 9T Ib TSP ST WA § AW oM | oA BT AT WSt I

46 T TF wx SfET ToF e W oM | AT & $eF AT anT | i cEw

T BoF AT UNT AR ST $e98 W Fb Al UNS SrEe 4d 3 X (@ Fio e Tug ciant
AT S NN + WIS (¥ S0 Af5e o A5 ofF T |

76. The major product{s}) ohtained from the following reaction of 1 mole of
hexadeuteriobenzene is/are

B
D D @} Bry(l mole), Fe
I D (i) 143()
1>
) [
1 fir 31 [3
(A) (B)
D D D D
D 131

D

[y [
D O Iy
D D D H
(©) O 5 (D)
D D D D

D D
e g | o0 cmrenchiReiamEs I Risow o6 @ qur s/ Seom
2 OIF | O 5Tsids 2

I
D D (D Br,y(1 mole), Fe .
D p (i) H0
D
D D
D R Br B
(A) (B)
D D
B
D
_ D H
(C) (D)
D 8]
D




77.

78.

Identify the correct statement(s) :

The tindings from the Bohr model tor H-atom are

. ) ) ) _h
{(A) Ansular momentum of the electron is expressed as integral multiples of 7=
£ 4 ] 7

(B)

. . , ]
(C)  The energy of the n-th level E_is proportional to 2

(D)

The tirst Bohr radius is 0.529 A®

The spacing between adjacent levels increases with increase in 'n’

sfie R a1 Rgfoofy fiet o -

QT WG (Y@ H-#30 sovfdo saody [ansi ==

(A)

(B)

(C)

(D)

During electrotysis of molten NaC/, some water was added. What will happen 7

(A)
(B)
(©)
(D)

s NaC/-97 e smy foght & s 391 = ©fg T $ 51 2

(A)
(B)
(C)

(D)
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Electrolysis will stop.

Hydrogen will be evolved.

Seme amount of caustic soda will be formed.

A tire is likely.

farree 3% ¥w T
BIRCOTG 5o =3
fog «feme FftE oiter oF =@
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The role of tluorspar, which is added in small quantities in the efectrolytic reduction of

alumina dissolved in tused cryolite, is

(A) asa catalyst

(B) to make fused mixture conducting

(CYy to lower the melting temperature of the mixture

(D) to decrease the rate of oxidation of carbon at anode

WERAE e FARGE (eryolite) 5T Ofee-if4E e siowar «fena o~

(tluorspar) QIS T3t =W
(A) TYEE R

(B) +fee Pt afiad a3 o3y
(C)  fr=efBe =g SromIar IR Ay

(D) WEICE IRET Siwed ofs Fxrag ST

The reduction of benzenediazonium chloride to phenyl hydrazine can he accomplished by
(A) SnCl,. HCI (B) Na,SO,

(C) CH,CH,OH (D) H,PO,

QfgRTmIcEAa Gratey fTermg Wy ReiRe TRufem Seeias AT sered

(A} SnCl,, HCI (B) Na,SO,

(C) CH,CH,OH (D) H,PO,
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